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OBCQ/D-20 26121
COST ACCOUNTING
BC-501
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
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Compulsory Question ( IFaTE WvT)

1. (a) Briefly discuss the principles of Cost Accounting.

AN wEed % M W gegw ¥ fafew |

(b) Write short notes on the following :
(1)  Out of Pocket Cost
(i) Sunk Cost.
frafafen w dfa fewfmr fafew .
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(i) gId o |

(c) What are objectives of Material Control ?
amft feEm % sReE s € 2

(d) Explain Escalation Clause.
gfgTa FUESH a9 1 aud Sifay |

(¢) What is meant by Rowan Plan ? 5x4=20
Yo aree | ety @ 2
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2.

It is said that “Cost accounting is a system of foresight
and not post-mortem examination in turns losses into
profit, speeds up activities and eliminate waste.” Discuss
this statement. 15
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Write short notes on the following :

(1) ABC Analysis of material control 5
(i) Economic order quantity 5
(i) Perpetual inventory system. 5

frfafea w gfea fewfrr fafew .
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A contractor who prepares his account on 31st Dec. each
year commenced a contract on Ist April, 2015. The
following informations are related to the contract as on
31.12.2015

4
Material issued 28,000
Wages 57,000
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Supervisor's salary 8,000

Special plant 20,000
Subcontract cost 7,800
Other expenses 4,075

Another machine costing I 26,000 has been on site for
146 days. The working life of this machine is expected to
be 7 years with a final scrap value I 1,500; Material
Costing T 2,000 was lost and material costing ¥ 4,000
were in hand on site. A machine costing ¥ 3,000 out of
special plant was sold for ¥ 3,700 in the beginning and
a machine costing ¥ 5,000 was returned to store on
1-10-2015. Wages are outstanding for one week and
supervisor's salary in outstanding for one month.
Supervisor has devoted one half (1/2) of his time to the
contract. The contract price is ¥ 2,40,000. On
31-12-2015, the (2/3rd) of contract was completed. Cash
received T 96,000 being 80% of work certified.
Administrative charges to be charged @ 20% on works
cost and depreciation to be charged @ 15% P.A. on
special plant. Prepare Contract Account, Work in Progress

Account and necessary items in balance sheet. 15
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Sl 57,000

YA 1 A 8,000
IEN R NG 20,000
IYSH AT 7,800
S G| 4,075
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5. What do you mean by absorption of overhead ? Describe
the various methods of absorption of factory overheads.
Which of these methods do you consider most scientific
and why ? 15
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6. What is meant by Operating Costing ? In which industries
is it used ? Prepare operating cost-sheet with imginary
figures. 15
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7. A company is producing two types of pens— Wright’ and
‘Speed’. The manufacturing costs for the year ended on
31st December, 2014 were :

4

Direct Materials 2,00,000
Direct Wages 1,12,000
Factory Overheads 48,000
3,60,000

It is ascertained that :

(a) Direct materials in “Wright’ type cost twice as much
as that of ‘Speed’ type.

(b) Direct wages of ‘Speed’ type were 60% of those
for ‘Wright’ type.
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(d)

(e)
®

(g)

Production overhead for each type was I 0.30 per
pen.

Administration overheads for each type was 200%
of direct labour.

Selling Cost ¥ 0.25 paise per pen for both types.
Production during the year was :

‘Wright’ type-40,000 pens of which 36,000 were
sold, ‘Speed’ type-1,20,000 pens of which 1,00,000
were sold.

Selling prices were I 7 per pen of ‘Wright’ type
and ¥ 5 per pen of ‘Speed’ type.

Prepare a statement showing the total cost per pen of

each type and profit made on each type of pen.

% W foia @ weR % T SR CEfe W o
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Pt s Dl 2,00,000
E 1,12,000
3R YN 48,000
3,60,000
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(W) T ¥R H IAEd SUNeId T 030 ¥fa U9 e |
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8. Explain the following by giving suitable example :
(a) Emerson Premium Plan
(b) Merrick Scheme
(¢) Gantt Bonus Plan. 5+5+5
Frefafed 1 Stgew 3T Wied wHeRy
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9. What do you mean by Normal Loss, Abnormal Loss and
Abnormal Gain ? How are these treated in Cost
Accounting ? 15
M BM, TEH A Tl MR @Y 1 F 7Y
2 ? TR O oEiehd § TRE R oien TR S @ 2

(2)L-26121 7



